COBM ® 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016

www.cobrausa.com

Items Supplied > Application(s) >

1 - Sissy Bar with Pad \ Suzuki Boulevard M109R 06-14 \
2 - Brackets

2 - 8mm x 65mm Buttonhead Bolts
2 - 8mm x 90mm Butttonhead Bolts
4 - 83mm x 16mm Buttonhead Bolts
2 - Small Spacers

2 - Large Spacers

Instruction Manual > \ 02-4845 | 02-5345

Your sissy bar will install in just a few minutes using common tools. Read all instructions carefully and
completely before installing your new sissy bar. NOTE: Install one side at atime

1. Remove the stock fender rail allen bolts from the fender rail. Install the left side sissy bar bracket with the stamped
number facing inward by aligning the front hole of the bracket with the front hole of the fender rail and insert the
supplied M8 x 90mm bolt thru the bracket, longer spacer and into the fender rail. Insert the M8 x 65mm bolt thru
the bracket, spacer and into the rear hole of the fender rail. Do not tighten.

2. Repeat step 1 for the right side bracket.

3. Install the sissy bar between the brackets using the four (4) supplied 8mm x 16mm buttonhead bolts.

4, Tighten all hardware, torque the bolts installed in the fender rail to factory specifications.

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under

the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

imos o Anything's Possible.



COBM ® 23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180, Fax. 714.692.5016

www.cobrausa.com

Items Supplied > Application(s) >
1 - Sissy Bar with Pad Suzuki Boulevard M109R 06-14
2 - Brackets

2 - 8mm x 65mm Buttonhead Bolts
2 - 8mm x 90mm Butttonhead Bolts
4 - 8mm x 16mm Buttonhead Bolts
2 - Small Spacers
2 - Large Spacers

Instruction Manual > \ 02-4845 | 02-5345

Your sissy bar will install in just a few minutes using common tools. Read all instructions carefully and
completely before installing your new sissy bar. NOTE: Install one side at a time

1. Remove the stock fender rail allen bolts from the fender rail. Install the left side sissy bar bracket with the stamped
number facing inward by aligning the front hole of the bracket with the front hole of the fender rail and insert the
supplied M8 x 90mm bolt thru the bracket, longer spacer and into the fender rail. Insert the M8 x 65mm bolt thru
the bracket, spacer and into the rear hole of the fender rail. Do not tighten.

2. Repeat step 1 for the right side bracket.
3. Install the sissy bar between the brackets using the four (4) supplied 8mm x 16mm buttonhead bolts.
4. Tighten all hardware, torque the bolts installed in the fender rail to factory specifications.

*Cobra® recommends you always wear a helmet while riding. Please never operate your motorcycle while under
the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.

D(i(;LéNéENT NO. 0019 REV. A Anyth’ng 'S POSS”J’ e. ®



